REM Ekonomiskt rationell fordelning

REM av gemensamma resurser inom

REM stor organisation med lokala

REM resultatansvar

REM av Peter Lohmander 2001-05-07

REM

REM File = Resford1.bas

CLS

DIM Rev(5, 7), f(6, 7), xopt(5, 7)

OPEN "RESFUT.DAT" FOR OUTPUT AS #2

Rev(1, 0) = 0

Rev(1, 1) = 4

Rev(1, 2) = 7

Rev(1, 3) = 9

Rev(1, 4) = 11

Rev(1, 5) = 12

Rev(1, 6) = 13

Rev(1, 7) = 13

Rev(2, 0) = 0

Rev(2, 1) = 4

Rev(2, 2) = 7

Rev(2, 3) = 9

Rev(2, 4) = 11

Rev(2, 5) = 12

Rev(2, 6) = 13

Rev(2, 7) = 13

Rev(3, 0) = 0

Rev(3, 1) = 4

Rev(3, 2) = 7

Rev(3, 3) = 9

Rev(3, 4) = 11

Rev(3, 5) = 12

Rev(3, 6) = 13

Rev(3, 7) = 13

Rev(4, 0) = 0

Rev(4, 1) = 4

Rev(4, 2) = 7

Rev(4, 3) = 9

Rev(4, 4) = 11

Rev(4, 5) = 12

Rev(4, 6) = 13

Rev(4, 7) = 13

Rev(5, 0) = 0

Rev(5, 1) = 4

Rev(5, 2) = 7

Rev(5, 3) = 9

Rev(5, 4) = 11

Rev(5, 5) = 12

Rev(5, 6) = 13

Rev(5, 7) = 13

imax = 7

xmax = 7

tmax = 5

tmaxp1 = tmax + 1

FOR i = 0 TO imax

FOR t = 0 TO tmaxp1

f(t, i) = 0

NEXT t

NEXT i

FOR x = 0 TO xmax

FOR t = 0 TO tmax

xopt(t, x) = 0

NEXT t

NEXT x

FOR t = tmax TO 1 STEP -1

FOR i = 0 TO imax

xmaxl = xmax

IF xmaxl > i THEN xmaxl = i

FOR x = 0 TO xmaxl STEP 1

floc = Rev(t, x) + f(t + 1, i - x)

IF floc > f(t, i) THEN xopt(t, i) = x

IF floc > f(t, i) THEN f(t, i) = floc

NEXT x

NEXT i

NEXT t

PRINT #2, " t  i=    1    2    3    4    5    6    7"

PRINT #2, ""

FOR t = 1 TO tmax STEP 1

PRINT #2, USING "##"; t;

PRINT #2, "  f=";

FOR i = 1 TO imax STEP 1

PRINT #2, USING "#####"; f(t, i);

NEXT i

PRINT #2, ""

PRINT #2, "    x=";

FOR i = 1 TO imax STEP 1

PRINT #2, USING "#####"; xopt(t, i);

NEXT i

PRINT #2, ""

PRINT #2, ""

NEXT t

 t  i=    1    2    3    4    5    6    7

 1  f=    4    8   12   16   20   23   26

    x=    0    0    0    0    1    1    1

 2  f=    4    8   12   16   19   22   25

    x=    0    0    0    1    1    1    1

 3  f=    4    8   12   15   18   21   23

    x=    0    0    1    1    1    2    2

 4  f=    4    8   11   14   16   18   20

    x=    0    1    1    2    2    2    3

 5  f=    4    7    9   11   12   13   13

    x=    1    2    3    4    5    6    6
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